Year 5 Homework, Spring Term Week 3

Maths: Speedy Six

1. A television licence costs £150 per year. How ’ ’ ’

much is this per month?
2. Add together the largest and the smallest of
these numbers. 0.099 0.9 0.909 0.09
3. Six toffees cost 90p. Find the cost of five.
4. Car parking costs £4 an hour. How much

does it cost for 3 hours and 15 minutes?
5. Convert 3.45m into cm.
6. 25% of 1450 =

Keep practising your times tables.

Optional Maths Extension (for 1HP)
A bag of 5 oranges cost £1. A bag of 4 lemons cost £1.80. How much more does one lemon cost
compared to an orange?

[ Spellings \ Quick English - ISPACE

Extension

You have finished the list of tricky words set
by the Government so now we are going to
do something a little different.

We would like you to develop your word
knowledge even more. Look up the
following words and write a sentence using
them.

conundrum
idyllic
impeccable

You need to

image. Each sentence needs to begin with a
preposition (Above, Below, Beneath, Through,
Across, Between, Under, Underneath, On top
of....etc.). Try to be as imaginative as possible and
try to include some impressive vocabulary.
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Homework is due in on 25 January.




